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Paper 1 Booklet A

Mulliple Choice Questions
Questions 1 to 10 camy 2 morks each.

For each question, four ophons are g:ven One of them is the comect answer.

Shade the correct ovcll (1.2, ‘3 or4)onthe Optical Answer Sheet.

1. The value of the digit 7 in 54 726 is
(1} 7
(2) 70
- {3} 700
(4] 7000

2. 43 758 rounded off fo the nearest hundred is
(1) 43700
(2] 43760
(3) 43800
(4) 44000

5
2967 %
What is the missing number in the box?
(1} 30
{2) 45
(3) 54

(4) 59




| In the number 46.37, the digit is in the tenths place.
(1) 6 |

(2) 7

@) 3

(4) 4
What is the number when 329.54 is rounded off o 1 decimal place?”
(1] 3290 | |
(2) 329.5

(3) 329.6
(4) 3300

In the figure, which angle is greater ’rhdn a right angle?
) 2w %

(2) £x \/
(3) <y \ |
(4) «z

The difference of 7% and % is
;

14

1} 6—
QU
4

(2 33



10.

The breadih of o swi‘mmihg pool is half the size of its length. ' If the
breadth is 8 m, what is the area of the swirnming pool?

(1) 256 m?

(2) 128 m?2
(3] 64 m2
4  32'm?

If Jack loses 2.4 kg, Peter will be half his weight. Find the weight of Jackif Peter

weighs 39.3kg.
(1) 834 kg
(2) 81.0 kg
(3) 786 kg

(4) 417 kg

Scmy had $10. Affer paying for one plate of chicken rice, one glass of
orange juice and fwo soft drinks, he had some fifty-cent coins left.
How many fifty-cent coins did Samy have after paying for his lunch?

(1) ]_ . . Chicken Rice Pte Litd
(2) 50

3 S | L Menu

(4} 4

|| Chicken Rice $4.20
Orange Juice $0.90
Soft Drinks - $1.20
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Paper1( Booklei B)

Write your answers in the boxes provided. For quesﬂons Whlch requnre umis

give your answers in the units siated. Questions 11 to 30 carry 2 marks each.

11.  Write eleven thousand and forty-three in figures.

. 12.  What is the first common mulfiple of 4 and 9?

13.  Fillin the box below with the correct number in the number pattern

below.

78 , 90 , 102, , 126




14, Arrange the following fractions from Thé'smalles’r to the greatest.

3 310
5711711

(smallest)

15.  Measure and write down the size of Zx.




17.  Express -1%%05 a decimal.

18.  Wirite the decimal represented by A.

| I Ll .
| | N N A
0.3

19.  Find the value of 6.94 x 7.




20. The square ABCD below is not drawn to scale. Find £x.

A | B

23°\X

- 21. ~ The figure below is made up of triangles. The small triangles are
identical. Triangle A has an area twice that.of a small tﬁongle.
How many small fiangles must be shaded 1o show one-third of the

figure shaded?




22 How many pairs of perpendicular lines are there in the figure below?

Write down your answer in the box below.

A 0

' 23. - Draw aline parallel to CD through Point X.




24. The graph below shows the number of peoplein a bookstore _ovér a

period of fime.

70

60
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(i} Which one-hour fime inferval was the increase in-the number of
people the greatest? |

to
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25. Ahmadis standing at Q and he is facing North-West. He makes a %—’rums

in the clockwise direciion. Affer that, he turns through 2 right angles in an

anfi-clockwise direction. Which direction is he facing now?

NORTH
ﬂ h

| WEST 4+ Q — » EAST

v

SOUTH

268. A notice was pasted ona sighboard, leaving a margin of 4cm all
around it. Find the area of the signboard not covered by the nofice.

demy -
<>

le—s
-~ red

19cm

¥

25cm

cm?
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27. The diagram below is not drawn io scale. Find the_peﬁmefer of the figure

 below. {All lines meet at right angles.)

12cm
- ——
' 4cm
" cm
28. The figure below is half of a symmetric shape. Complete the

~ symmetric shape with the dotted line as a line of symmetry.
. i o

-12-



29.  Draw fwo more unit shapes to complete the ie_sselloﬁon.'

- - .

1 ]
.
L

L]

30. Rd_j wds given a queue number before meeting his doctor.
" The number is between 7 and 19. h
It is o muttiple of 6 dnd it is also a factor of 24.

- What was his queue number?

i
,.

End of Paper 1
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Questions 1 to 10 carry 4 marks each. Show your working clearly in the space
provided for each question and write your answers in the spaces provided. For
questions which require units, give your answers.in the unifs stated. {40 marks)

1. " The total mass of three sofas is 218kg. The first sofa i§ twice as heavy as
the second sofa. The third sofa is 14kg heavier than the second sofa.

. Find the mass of the third sofa.

: ) ~

Ans:




2. Chris had $243. He spent % of his money on a bag and some money on

a book. He had $21 left. How much r‘nbney did he spend on the book?

Ans:

3. Kara had 246 cards and Mdry had 56 cards. Kara gave Mary some
cards so that they have the same number of cards. How many cards

"has Kara now?

Ans:




A confainer had 15.9¢of water. Henry used half of it to mop the floor
and a third of the remainder fo wash his bicycle. How much water did

he have lefi?

Ans:

Murli-buys some souvenirs from a shop. The number of souvenirs is more
“than 26 but fewer than 50. | the souvenirs are given fo 3_friends,
4 friends or 6 friends, there are always 2 souvenirs remdiriin_g.

How many souvenirs did Muri buy?

Ans:




6. Sam is 45 years younger than his grandmother. Last yéar, his grandmother
- was 4 times as old as he was. How old will Sam be when his grandmother

reaches 65 years old?

Ans:

7. Fred watched a movie in the cinema. He left the cinema after
1hr 15 min and spent the next 40 minutes eating his lunch in a food
centre. He took another. 25 minutes to return home. If he reached his

home by 17 55, at what time did he enter the cinema?

{Draw a fimeline.)

Ans:




8. Jamal paid a total of $90 for a T-shirt, a pair of socks and a pair of sandals.
The T-shirt cost $17.50 more than the pair of socks. The pair of sandals cost

3 fimes as much as the T-shirt. Find the cost of the pair of sanddis.

Ans:




9.  The figure below is made up of 4 equal squares A, B, C and D. Half of
Square D is shaded and a quarter of square B is shaded.

Find the unshaded area.

Ans:




10.  Study the pattem.

@_

Pattern1 Pattern 2 Pattern 3

~ fa)  How many unit shapes are there in Pattern 57

() Which Paifern will have 210 unif shapes?

Ans : (a}

(b)
End of Paper 2
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Answer Key


1)218—-14 = 204
204 - 4=51
51+14 =65

- The mass is 65kg

2)243 -3 =81
81—-21=60
He spent $60 on the book

3)246 + 56 = 302
302 -2=151
Kara has 151 cards now-

4)15.9 + 6 = 2.65
2.65x2=5.30L
He had 5.30L of water left

5)38

6)65—45 =20
Sam will be 20 years old

. 7)He entered the cinema at 15 35

8)90 + 17.50 = 107.50
107.50= 5 = 21.50
21.50 x 3 = $64.50

The pair of sandals cost $64.50

9)9x2=18
18 x8 =324
3244 =181
81 x3 =243
324 - 2=162
324 x 2 = 648
648 + 243 = 891
891 + 162 = 1053m2
The unshaded area is 1053mz .

10)a)l + 2+ 3 +4+5=15
There will be 15 unit shapes
by 14+ 2+ 3+ 4--m- 20 = 210

Pattern 20 had 210 shapes
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